test)
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311
312

3.13

314
315

316

3.17

(binomial test)

1
311-3.16

(Monte Carlo Simulition Technique)

(a)

a (binomial

(power of the test)

(et)
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3.2
!l
(FORTRAN)
321
Lehmer
Method)
Xi= ) modmMm
X t /
X a
M
a (Constant Multiplier)
(3.1 X, (
x 0 (initial value
0 M-1
M, a x0
(.1 M
Al=2*
(bit) 1 32

a

RAND

21

77
%
0.1
01
(Multiplicative Congruential
<
j=123.. e 3.1
(ax',,] M
seed) ' X1 x 1Xj,...
1
M = 2147483647
75= 16807 ir0

©.1)
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28

SUBROUTINE RAND(IX.YFL)
REAL YFL

IY = IX* 16807

IF (IY.LT.O) IY = 1Y +2147483647+1
YFL =1Y

YFL = YFL*0.465661E-9

IX =1y
RETURN
END
33 : (0.1)
5
(a,P)
3221 0<67<1
. . 1974 Ahrens Dieter
a 0o 1 acceptance- rejection
1 b b={e+a)/e
2. I/, RAND P=bUx
p>1 4
3. Y =pla T RAND
l<eY X =Y 2
4. 7=- [(6-P)/a]
AN X =7 2

GAM 1 34
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40

SUBROUTINE GAM_1(ALPHA,XX)

DOUBLE PRECISION XX,ALPHA3,P,Y,CHK1 ,CHK2

COMMON /SEED/IX

B = (EXP(L)+ALPHA)EXP(1)

CALL RAND(IX.YFL)

RONE = YFL

p= B*RONE

CALL RAND(IX,YFL)

RTWO = YFL

IF (P.GT.1.00) GOTO 40

Y = P**(1.00/ALPHA)

CHK1 = EXP(-Y)

IF (RTWO.LE.CHK1) THEN
XX =Y

ELSE GOTO 10

END IF

RETURN

Y = -ALOG((B-P)/ALPHA)

CHK2 = Y**(ALPHA-1.00)

IF (RTWO.LE.CHK2) THEN
XX=Y

ELSE GOTO 10

END IF
RETURN
END

34

a 0

3222 a>1

1977 Cheng

1 acceptance-rejection
1 a,b,q d

a=1l/yj2a-1: b=a-1In4

q--a+y”

29
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- 1419 6= 49

v=ah[c/v (I-t/,)]

Y=aey
Z= * 2
=b+qV-Y

W+d-6Z>0 X-Y

4. JV>hz X=Y

GAM 2
SUBROUTINE GAM_2(ALPHAXX)
DOUBLE PRECISION XX,ALPHA
COMMON /SEED/LX
Al = 1/SQRT((2*ALPHA)-1)
A2 = ALPHA-AI.OG (4)
A3 = ALPHA+(1/A1)
A4 = I+ALOG (4.5)
CALL RAND(IX,YFL)
RANI = YFL
CALL RAND(IX.YFL)
RAN2 = YFL
V = AI*ALOG(RANI/(1-RAN 1))
Y = ALPHA*EXP (V)
Z:(RAN 1%%2)*RAN2
= A2-KA3*V)-Y
CHKL = W +(A4)-(4.5*Z)
IF (CHK1.GE.0) THEN
XX =Y
RETURN

END IF

35

RAND



CHK2 = ALOG(Z)
IF (.GE.CHK2) THEN
XX=Y
ELSE
GOTO 10
END IF
RETURN
END

35 >1

3223 <2=1
I a 1
reproductive property X1 Gam (<2,,/?)
X =2 X1 G(a,/d) 2=2<2.: < <=m
i=l H

GO, (3 X
X=E(-toU,)=-/3ton

(01)
GAM 3 36

SUBROUTINE GAM_3(BETAXX)
DOUBLE PRECISION XX,BETA
COMMON /SEED/IX
10 CALL RAND(IX,YFL)
V =-ALOG(YFL)
XX = BETA *V
RETURN
END

3.6 <2=1



3.23

y
(Inverse Transformation)
1 fl (R) RAND 32
2 y («,/?)
2 (3.2
X=(\-10g1-RY e (3.2
Ovfet VU Fiblue’ BLodtel 1jFf0aqanT" <o’ Wi T YINMIWA 3.7
SUBROUTINE WEI(ALPHA BETA,XX)
DOUBLE PRECISION XX,ALPHA,BETA
COMMON /SEED/IX
CALL RAND(IX,YFL)
AK - -ALOG(-YFL)
W X= 1.0/ALPHA
XX = BETA*(AK**W X)
RETURN
END
37 y (a,/?)
324
Box Muller
0 1 (generator) Z, Z2
Z =[-2In(/?))]"*cos(2"2)
Wz, =[- 2In(i?,)]" sin(27zft))
R R1 RAND(" 3.2

X1=Ro+
*1 = Mo+ °n2



X, X2 ‘ E(X,)=1b
VanXl=cr X,- N(u,ed =12

NORM 3.8
SUBROUTINE NORM(DMEAN,SIGMA,IK,XL)
DOUBLE PRECISION XL
COMMON /SEFD/TX
Pl = 3.1415926
IF (IK.EQ.l) GOTO 10
5 CALL RAND(IX,YFL)
IF (YFL.LE.O.).OR.(YFL.GT.L)) GOTO 5 4
ROUE= YFL
6 CALL RAND(IX,YFL)
IF ((YFL.LE.O.).OR.(YFL.GT.1.)) GOTO 6
RTWO = YFL
ZONE = SQRT(-2*ALOG(RONE))*COS(2*PI*FRTWO)
ZTWO = SQRT(-2*ALOG (RONE))*SIN(2*P*RTWO)
XL =ZONE* SIGMA+ DMEAN
IK =1 RETURN
10 XL =ZTWO * SIGMA + DMEAN
IK =0 RETURN

END

3.8 (14, cr2)

3.25

A (711 7 = exp(X)

(/%,crz)

1 /4 o , 38



N , (Exponential)

LOGN 39

SUBROUTINE LOGN(DMEAN,SIGMA IK X X)
DOUBLE PRECISION XX X, XL

COMMON /SEED/IX

CALL NORM(DMEAN,SIGMA,IK,XL)

XX = EXP(XL)

RETURN

END

39
' L (fibal)

34
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